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UNIVERSITY OF NORTH BENGAL 

B.A. General Part-II Examination, 2022 

SOCIOLOGY 
PAPER-V  

INDIAN SOCIETY: STRUCTURE AND CHANGE 

Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks. 

 GROUP-A /  িবভাগ-ক / [k.M-d 

 Answer any three questions of the following  
িনmিলিখত েয-েকান িতনিট  pেűর উtর দাও 

dquS rhuoVk iz“udk mÙkj ys[uqgksl~ 

14×3 = 42

1. Define caste. Discuss the features and function of caste system. 
জািতর সংjা দাও। জািত ব°বsার �বিশŶ° ও কাযর্াবলী আেলাচনা কর। 

4+10 = 14

 tkfr HkUukys ds cqf>UN \ tkfr izFkkdk fo“ks’krk rFkk dk;Zg:ckjs ppkZ xuZqgksl~A 
  
2. Write a note on three-tier Panchayati Raj system of West Bengal. 

পিůমবেñর িt-sরীয় পĀােয়িতরাজ ব°বsা সmেকর্ একিট টীকা �লখ। 
14

 if“pe c³~xkydks rhu Lrjh; ik;rh jkt iz.kkyhckjs fVIi.kh ys[uqgksl~A 

  
3. Define tribe. Classify the Indian tribe on the basis of economic activities. 

আিদবাসীর সংjা দাও। অথর্ৈনিতক কাযর্কলােপর িভিtেত ভারতীয় আিদবাসীেদর �Ëণী িবভাজন 
কর। 

4+10 = 14

 tutkfrdks ifjHkk’kk fnuqgksl~A vFkZuhfrdk nf̀’Vys Hkkjrh; tutkfrg:dk Js.khfoU;kl 
xuZqgksl~A 

  
4. What do you mean by social change? Discuss the various factors of social 

change. 
সামািজক পিরবতর্ন বলেত িক �বাঝ ? সামািজক পিরবতর্েনর িবিভn কারণgিল আেলাচনা কর। 

4+10 = 14

 lkekftd ifjorZu HkUukys rikbZa ds cqÖuqgqUN \ lkekftd ifjorZudk fofo/k 
dkjdg:ckjs foospuk xuZqgksl~A 
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5. Define Sanskritization. What are the main features of Sanskritization? 
সামািজকীকরেণর সংjা দাও। সামািজকীকরেণর pধান �বিশŶ°gেলা আেলাচনা কর। 

4+10 = 14

 laLÑfrdj.kdks ifjHkk’kk ys[uqgksl~A laLÑfrdj.kdk izeq[k fo“ks’krkg: ds ds gqu~ \ 

  
6. Discuss the role of education and social legislations as an agent of social change 

in India. 
ভারেতর সামািজক পিরবতর্েনর মাধ°ম িহসােব িশkা ও সামািজক িবিধিবধােনর ɛিমকা আেলাচনা 
কর। 

14

 Hkkjrek lkekftd ifjoÙkZudks fn“kkek f“k{kk rFkk lkekftd fo/kkuys ,d vfHkdÙkkZdks 
:iek fuokZg xjsdks Hkwfedkckjs ppkZ xuZqgksl~A 

  

 GROUP-B / িবভাগ-খ / [k.M-[k 

7. Define / Explain the following: 

িনmিলিখত িবষয়gিলর সংjা / ব°াখ°া দাওঃ 
ifjHkkf’kr / O;k[;k xuZqgksl~ & 

2×4 = 8

(a) Joint Family 
�যৗথ পিরবার 
la;qä ifjokj 

(b) Caste council 
জািত পিরষদ 
tkfr ifj’kn 

(c) Industrialization  
িশlায়ন 
m|ksxhdj.k 

(d) Urban family. 
নগর পিরবার। 
“kgjh ifjokjA 

 
——×—— 

 


